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1) Dite quali sono vere ¢ quali false:

T A
2) Calcolate:

‘_% + %‘ e |(sen(@r/3)3l =

|33 tan(dmw/4)| = - ; %cos(77r/4)—\/§ = .

3) Sviluppate le seguenti espressioni:

4) Risolvete:
ol=3:  ll=-3; I-el=5 [h—dsl=f;

(=5)%2 — }z| = —25z; |3z — 8| = $]4(2z — 1) — 3.

5) Risolvete:
l-z|<2;  [6z|23;  |2®+52/<0;
|(—1)3(622 — 4)| > 10z ; 5—3—3z+1/>0.

¢) Risolvete:
a) |z| >z
b) 3lz+ 1] < (2 +1)2
c) [z+5|=2-3
d) 3z -1] <5/2




M) Risdueke,

4 1
2 (3 cos 7r)3‘—@m sen(—lfr)‘ =-9.

75 6

b) .(3$+5)(3:L‘3+$2—25L')(:E2 — %)' <0.

c) |22 — 5| < 9z .
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